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Transcript

I think you were right when you did the other one. No |
mean this one, you did this one (pointing to the bottom
problem on the paper).

The bottom one?

The kangaroo jumped six times. If the rabbit jumped four
more times, he will have jumped as many times as the
kangaroo. How many times has the rabbit already jumped?

Six times probably, because they said as many.

Hey, hey are you giving up? Are you giving up? That’s what
I want to know.

No

Why would you think it was two?
I think it’s six.

We already have two down

Yea, why did you think it was two the first time? Can you
show me? Can you show me the jumps with your things?

If the kangaroo jumps six times, if the rabbit

(Waves Hand at Gerardo) Let me go around and see if
everybody thinks, why they think it was four.

Why do you think it was four?
| don’t know.

Why do you think it was two Aaron?
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16 Aaron | agree with you

17 Stephanie  Why do you think it was two Gerardo?

18 Gerardo You.

19 Stephanie  You don’t have any idea (inaudible) I think it was another
one.

20 R2 Can you show me? Can you show me with the...

21 Stephanie  Okay, lets see six, (working with cubes) and four. You count

up two more | think and that would be two. So I think that’s
why we thought two the first time. It’s two. So we got to
throw this one out. You know I think it could be two. Should
we go over this a second time again.

22 Gerardo No, lets just figure this one out.

23 Stephanie  Okay, wait we figured that one out, and we all agreed on two
right?

24 Gerardo Right, but I thought we put five. Five and three, it’s two.
Look I did it, look Stephanie. It’s got to be two.

25 Aaron You didn’t put two the first time right here

26 Gerardo | put two. So what’s this? They’re both two.

27 Stephanie  You think we’re done?

28 Gerardo Yeah

29




